TRADE : CONSTRUCTION							
Sr. No.	Name of Equipment	Specification	Images of Tool and Equipment	Quantity	Approx Price Per Unit	Total	
1	Water proofing compound	LATEX is multipurpose & economical product, easy to use Cracking – it prevents cracking by improving flexural strength. (1 Kg)	Thur Tanon Tan	2	1500	3000	
2	Sand paper	Water Proof SAND PAPER GRIT SIZE - 1000,1500, 2000, 2500, 3000 Pack of 10 Sheets of Water Proof Latex Silicon Carbide sanding paper (2pcs each Grit) Paper Size - 23 cm X 28cm		2	400	800	
3	Wallpapers	Material: Vinyl. There is a grid on the back which makes measuring and cutting it very easy. Types of wallpapers-standard,textured border peel and stick		5	2000	10000	
4	Painter tool	Made from high-quality 3CR13 stainless steel, the putty knife offers superior corrosion resistance and long-lasting durability. The blade's hardness rating (HRC 30) ensures it holds its edge 4x longer than ordinary carbon steel tools, providing reliability and performance for heavy-duty jobs.		3	400	1200	
5	Jhula with rope	Heavy Duty Rope with light weight but hard Plank		1	2000	2000	
6	Walpaper Adhesive	Adhesive is designed to withstand common household challenges like dust and water, ensuring your wallpaper stays intact and looks fresh for longer periods (1 Litre dry powder+ 1 litre glue)	WILLPADER	1	800	800	
7	Masking tape	Made of quality crepe paper, which is easy to tear by hand and resistant to cracking, featuring good adhesion, and easy to remove without leaving residual adhesive		20	200	4000	
8	Stainer/Pigmemt	Hese highly concentrated silicone colorant delivers high-impact colors with every drop, add a single drop at a time to achieve the desired level of tinting. (5 bottle of 50ml with different colours)		1	500	500	
9	Paint rollers	Natural fibers to polyester fibers and foam 9'' 6'' 4'' 2''		2	1000	2000	
10	Saftey Mask	N99 filters to effectively block out harmful pollutants, dust, and particles, providing you with maximum protection		5	200	1000	
11	Acrylic putty	Embrace an eco-conscious approach with our water-based, lead-free wall putty. Designed with the environment in mind, it minimizes harmful emissions, making it a safer choice for both the planet and indoor spaces. (5 kgs)	ACTIVE ACTIVE	2	750	1500	

				-		
12	Drop cloth	Normal local available		5	300	1500
13	Sprayer	Paint Sprayer 750W with 950 Ml Container Electric Paint Sprayer with 2M Long Cable&Vde Plug 2.5Mm Nozzle Motor Speed Up to 32000Rpm/Min Suitable for Indoor&Outdoor Paint,		1	3000	3000
14	Extension Pole	MADE OF ALUMINIUM		1	1000	1000
15	Embossed type brush:	for textured or designing		2	400	800
16	Adjustable Angle	for convenient angle or corner painting	Le construction de la constructi	1	1000	1000
17	MS patti	MADE OF STEEL OR MILD STEEL (1 Box) with mix sizes	R	1	200	200
18	Electric sander machine	Weighs just 1 to 2 Kgs,Internal Dust Extraction System for a cleaner working environment, Variable Speed Control from 1500-2700 RPM, Detachable Side Segment for Sanding Corners		1	4500	4500
19	Electric Blower	Dimensions: Length - 17.5cm, Width - 16cm, Height - 20cm and Weight - 1.41kgVariable Speed: This air blower comes with a motor that runs at the speed of 14000RPM.		1	1500	1500
20	Putty blade	Dimensions: width - 3'',4'',5'' imch		10	20	200
21	Scrapper set	Dimensions:6"8"10'' inch		1	1000	1000
22	Paint Brushes	size-5'' 4'' 3'' 2'' 1''		1	1000	1000
23	Roller tray	Plastic Tray with holding capacity 500ml		2	250	500

24	Extention ladder	Heavy duty black aluminium foldable with 15 steps	LINGMAN	1	10000	10000
25	Paint mixer/putty mixer	CAN WORK ON AT-LEAST 100 SITES WITH 1HR OR MIXING PUTTY PER SITE VARIABLE SPEED FOR FINER BLENDING AND FINISH TO BE USED UPTO 15KGS		1	6000	6000
26	Wallpaper pasting tool kit	scrapper 4'' 5'' 6'' and cutter (big and small),roller etc		3	1000	3000
27	Sponges	for sponge painting on wall and designs use only branded (asian)		5	100	500
28	Emulsion paint	interior and exterior branded (5 ltr interior & 5 litre exterior)		1	4000	4000
29	Wood and metal paint	water based paint with stain finsh 5ltr each		1	1200	1200
30	Primer	arcylic latex 5 litre		1	1500	1500
31	Wood filler	epoxy wood fillers	TEXMANTRA WOODCURE PREMIUM WOODFILE WHITE	3	300	900
32	PVC Sheets	Marble Contact Paper is designed with a marble background and irregular dark grey accents to simulate marble cracks for greater realism. Our design will give you an outstanding visual experience.		5	2000	10000
33	PVC Panel	PVC Wall Panel/Louvers Panel for Wall/3d Wall Panel for Interior Wall Décor/Eco-Friendly Fluted Panel for Wall/- Pack of 1,Covers - 10 Sq. Ft (Teak Brown-12 Inch x 10 Ft)		10	400	4000
34	Stencils	Plastic or Wood Sheets with long durability		10	1000	10000
35	Tile Cutter	Manual Operation for Direct and Diagonal Line Cutting: The tile cutter features manual operation, allowing for direct and diagonal line cutting of tiles with ease and precision.Tungsten Carbide Blade Cut Wheels: Equipped with 2 tungsten carbide blade cut wheels, this tile cutter ensures efficient and clean cuts on porcelain and ceramic floor tiles	A CONTRACTOR	1	3000	3000

Heat Gun	1800w input power creates sufficient airflow and temperature for all finishing/fixing applications,Heat isolation cap ensures user safety by protecting them from high heat,Overheat protection to ensure user's safety in case of an airflow blockage		1	1500	1500
Jet Washer	Package contains: Trucare High Pressure Washer 1800w 120 bar pressure. Multifunctional: This pressure washer is useful for washing Cars-Bikes, Home cleaning, and other DIY purposeHigh-quality & high- performance motor effectively solves the problem of voltage heating.High pressure pump head integral metal construction, three piston pump plugs are included.High pressure outlet pipe: Three layers of high pressure explosion- proof, flexible and strong, high pressure quality, light & convenient for storage.		1	4500	4500
Colour Wheel Card	Creative Color Wheel, Paint Mixing Learning Guide Art Class Teaching Tool for Makeup Blending Board Chart Color Mixed Guide Mix Colours 14=14cm		2	400	800
Ghodi	Wooden or Steel Frame with Wooden Pank , 5feet height		1	2000	2000
Laser Distance Meter	Working Range: 0.1-100 m IP Rating: 65; Laser class: 2 Pythagoras indirect height function will allow to measure distances even when point A and/or point B isn't accessible for linear measurement,330-foot laser distance measurer has the ability to calculate area and volume, making job estimates quick and easy with automatic calculations and an additional triangular area function Warranty: 1 year warranty provided by the manufacturer from date of purchas		1	10000	10000
Laser Level	Green Laser Level Pro - 25m, 3x360° 4D Green Cross Self-Leveling Professional Laser Line for Construction with Two 360° Vertical/One Horizontal Laser Level Pulse Mode		1	6000	6000
Painter Dress	uniformer Cotton Coverall Lightweight, Breathable & Durable Workwear Easy Care & Machine Washable		3	1500	4500
Polyurethane Liquid Membrane	Elastomeric waterproof coating with Nano fibre technology,Dual benefits – waterproofing as well as heat reduction due to superior insulation in a single product,Eco friendly- Non toxic and VOC compliant water based coating		1	2000	2000
Airless Paint Sprayer	The sprayer comes with all necessary accessories, including a spray gun, nozzle, pressure gauge, high-pressure feed pipe, and suction tube. With a 2m cord length, rated voltage of 230V, and frequency of 50Hz		1	16000	16000
Outdoor camera	Day/Night vision outdoor bullet camera with warranty		1	2500	2500
	Laser Level Painter Dress Airless Paint Sprayer	Heat Gunand temperature for all finishing/fring applications,Heat isolation cap ensures user safety by protecting them from high heat,Overheat protecting them for high pressure and the DIV purposelike-quality & high- performance motor effectively solves the problem of voltage heating,High pressure pump head integral metal construction, three piston pump plugs are included.High pressure quality, light & convenient for storage.Colour Wheel CardCreative Color Wheel, Paint Mixing Learning Guide Art Class Teaching Tool for Makeup Blending Board Chart Color Mixed Guide Mix Colours 14=14cmGhodiWooden or Steel Frame with Wooden Pank , Sfeet heightLaser Distance MeterWorking Range: 0.1-100 m IP Rating: 65; Laser class: 2 Pythagoras indirect height function will allow to measure distances even when point A and/or point Bisrt accessible for linear measure distances even when point A and/or mountic calculates are and volume, maing job estimates quick and easy with automatic acid using area function Waranty. 1 year waranty provided by the manufacturer from date of purchasPolyurethane Liquid MembraneElastomeric waterproof coating with Nano fibre technology,Dual benefits – waterproofing as well as heat reduction due to superior insulation in a single product, Coa friendly- Non insulation in a single product, Coa friendly- No	Heat Gunand temperature for all finishing/triving applications, Heat isolation appendix user safety by protecting them from high heat. Workheat protection to resure user's safety in case of an airflow blockageImage: Compendix	Heat Gun and temperature for all finishing/finishing Image: Section of the section of the server supers section of the server section server server server set is safety by protecting them from high pressure set is safety in case of an airflow blockage Image: Section of the server server set is section blockage Jet Washer Backage contains: Tructer High Pressure washer is such washer is section of the DP purposetight-paulity & high-performance motor effectively solves the problem of voltage heating, High pressure evapore is provided by the pressure evapore provide grade in the section of the Abackage contains: Tructer High Pressure evapore provide grade in the section of the Abackage pressure purps plays are included. High pressure evapore provide grade is the section of the Abackage pressure purps plays are included. High pressure evapore pression, High Rescure evapore presor contex washer free toreachas and volume,	Heat Gunand temperature for all finishing/fising applications, states to totation of persues user safety in case of an airflow toccage11500I all solutionsPackage contains: Trucken High Fressure Washer 1300w 120 bar pessare. Multifurcetional This pessare washer to useful of the washing barding barding barding barding barding of the barding barding barding barding barding totation the barding barding barding barding barding barding barding totation the barding b

46 Indeer Dame Came 2MP Full ID Set MUPT CCV Years Sanctor Card Upon 12: Set Sign in Distance Univer, S Sub CV Card Upon 12: Set Sign in Distance Univer, S Sub CV Card Upon 12: Set Sign in Distance Univer, Wireless 2 2000 4000 47 Biglut Video Recorde Branded 1000 P-01 HD S Channel Digital Video Recorder. with warranty Image: Set Sign in Distance Univer, Wireless 1 5000 5000 48 Hand Dak Branded 1000 P-01 HD S Channel Digital Video Recorder. with warranty Image: Set Sign in Distance Univer, Wireless 1 5000 5000 49 Wree Branded 13: Coastal Pare Cooper CCV Carless Cable (Sh Meter) with warranty Image: Set Sign in Distance Univer, Set Sign in Distance Univer, Set Sign in Distance Univer, Set Sign in Distance Univer, Set Sign in Distance Univer, Set Sign in Distance Univer, Set Sign in Distance Univer, Set Sign in Distance Univer, Set Sign in Distance Univer, Set Sign in Distance Univer, Set Sign in Distance Univer, Set Sign in Distance Univer, Set Sign in Distance Univer, Set Sign in Distance Univer, Set Sign in D							
a) Digital Volet Related Recorder, with warranty a 1 3000 3000 48 Hard Disk. Branded internal hard disk with 11B memory under warranty a 1 3000 3000 49 Wire Branded internal hard disk with 11B memory under warranty a 1 1 3000 3000 50 Amirah 2 Dear Abld Steel Office Amirah with inbuilt sheeler (S Ke 1 String) by Metery with warranty a 1 1 8000 8000 51 Studem Chair Proceshel backnest having powder coated finishing with inbuilt sheeler (S Ke) a a 40 700 28000 52 Fire Extinguisher (S Ke) Carbon steel ABC dry powder type (S Ke) a a 1 1500 1500 53 Smake Detectors Power source: Battery, Color - White, Weight - Core Steel Child Cystal Display L2D peak of the foot foot (2.2.5 Ensor type - ionization in the core show foot for - pl in D) - with warranty a 1 1500 1500 54 LED Monitor LSB (Full Steel Office Alexator Steel Child Cystal Display with warranty a a 1 1000 1000 55 Wired Branded LSB (Full Steel Office Alexato	46	Indoor Dome Camera	Camera, 360° with Pan Tilt, View & Talk, SD Card (Upto 128 GB), IR Distance 10mtr, infrared LEDs and night-vision technology,	In the second second	2	2000	4000
AS Netro Lisk under warranty I 3000 3000 49 Wire Branded 34 Coxidal Pure Copper CCV Camera Cobie (50 Meter) with warranty I 1500 1 1500 50 Almirah 2 Door Mild Steel Office Almirah with inbuilt shelves (5ft *3f) I 8000 8000 51 Student Chair Pic shell backrait having powder coated finishing with mild steel fame Image: Composition of the compositis (the composite of the comp	47	Digital Video Recorder			1	5000	5000
AS Write Cable (90 Meter) with warranty 1 1500 1500 1500 50 Almirah 2. Door Mild Steel Office Almirah with inbuilt shelves (61 °31) Image: Cable (90 Meter) 1 8000 8000 51 Student Chair Por. shell backrest having powder coated finishing with mild steel frame Image: Cable (90 Meter) 40 700 28000 52 Fire Extinguisher (5 KG ABC type) Carbon steel ABC dry powder type (5 Kg) Image: Cable (90 Meter) Image: Cable (90 Meter) 1 1500 1500 53 Smoke Detectors Power source - Battery, Color - White, Weight - 220 g, Sensor type - Ionization Image: Cable (90 Meter) Image: Cable (90 Meter) 1 1500 1500 54 LED Monitor Branded 53.5 - 55.5 CM Liquid Crystal Display LED Backt Compare Monitors (2.12) inch (54.61 cm) PS LED Backt Compare Monitors (2.12) inch (54.61 cm) PS LED Backt Compare Monitor - CHI HD)- with warranty Image: Cable (140 Meter) Image: Cable (140 Meter) 1 1000 1000 55 Wired Branded Keyboard Mouse Kit USS (fail Size) Wired Keyboard & Morse Combe(Hack) with numeric keys Compatible with latest window version - with warranty Image: Cable (200 Meter) 1 1000 1000 56 CPU (Central Pro	48	Hard Disk			1	3000	3000
50 Almiran shelves (Sft *3ft) Image: Student Chair Pre-shell backrest having powder coated finishing with mild steef frame Image: Student Chair Pre-shell backrest having powder coated finishing with mild steef frame Image: Student Chair Pre-shell backrest having powder coated finishing with mild steef frame Image: Student Chair Pre-shell backrest having powder coated finishing with mild steef frame Image: Student Chair Image: Student Chair Pre-shell backrest having powder coated finishing with mild steef frame Image: Student Chair	49	Wire			1	1500	1500
51 Student Chair with mild steel frame 1 40 700 28000 52 Fire Extinguisher (5 KG ABC type) Carbon steel ABC dry powder type (5 Kg) 1 1500 1500 53 Smoke Detectors Power source - Battery, Color - White, Weight - 220 g, Sensor type - ionization 2 800 1600 54 LED Monitor Branded 53.5 - 55.5 CM Liquid Crystal Display LED Panel or Monitors (21.5 inch (54.61 cm) IPS LED Backlit Computer Monitor - Full HD) - with warranty 1 7500 7500 55 Wired Branded Keyboard Mouse Kit USB (Full Site) Wired Keyboard & Mouse combo(Black) with numeric keys.Compatible with latest window version - with warranty 1 1000 1000 56 CPU (Central Processing Unit) 12th Gen Intel Core I5-8GB RAM/1 TB HDD/Windows11/MS Office 2021/Integrated Intel UHD Graphics/WiFi 5/Bluetooth 5.0 (with 3 years warranty) 1 40000 40000	50	Almirah			1	8000	8000
S2 ABC type) Carbon steer ABC try powder type (s kg) 1 1500 1500 S3 Smoke Detectors Power source - Battery, Color - White, Weight- 220 g, Sensor type - ionization 2 800 1600 54 LED Monitor Branded 53.5 - 55.5 CM Liquid Crystal Display LED Panel or Monitors (21.5 inch (54.61 cm) IPS LED Backlit Computer Monitor - Full HD) - with warranty 1 7500 7500 55 Wired Branded Keyboard Mouse Kit USB (Full Size) Wired Keyboard & Mouse Combo(Black) with numeric keys. Compatible with latest window version - with warranty 1 1000 1000 56 CPU (Central Processing Unit) 12th Gen Intel Core i5-8GB RAM/1 TB HDD/Windows11/MS Office 2021/Integrated Intel UHD Graphics/WiFi 5/Bluetooth 5.0 (with 3 years warranty) 1 40000 40000	51	Student Chair			40	700	28000
53 Sinoke Detectors 220 g, Sensor type - ionization 2 800 1600 54 LED Monitor Branded 53.5 - 55.5 CM Liquid Crystal Display LED Panel or Monitors (21.5 inch (54.61 cm) IPS LED Backlit Computer Monitor - Full HD) - with warranty 1 7500 7500 55 Wired Branded Keyboard Mouse Kit USB (Full Size) Wired Keyboard & Mouse Combo(Black) with numeric keys.Compatible with latest window version - with warranty 1 1000 1000 56 CPU (Central Processing Unit) 12th Gen Intel Core i5-8GB RAM/1 TB HDD/Windows11/MS Office 2021/Integrated Intel UHD Graphics/WiFi 5/Bluetooth 5.0 (with 3 years warranty) 1 40000 40000	52		Carbon steel ABC dry powder type (5 Kg)		1	1500	1500
54 LED Monitor LED Panel or Monitors (21.5 inch (54.61 cm)) 1 7500 7500 54 LED Monitor IPS LED Backlit Computer Monitor - Full HD)- 1 7500 7500 55 Wired Branded Keyboard & Mouse Kit USB (Full Size) Wired Keyboard & Mouse Combo(Black) with numeric keys.Compatible with latest window version - with warranty 1 1000 1000 56 CPU (Central Processing Unit) 12th Gen Intel Core i5-8GB RAM/1 TB HDD/Windows11/MS Office 2021/Integrated Intel UHD Graphics/WiFi 5/Bluetooth 5.0 (with 3 years warranty) 1 40000 40000 57 WhiteBoard Whiteboard Drywipe Magnetic with Pen Tray and 1 2000 2000	53	Smoke Detectors			2	800	1600
55 White Branded Keyboard Mouse Kit Combo(Black) with numeric keys.Compatible with latest window version - with warranty 1 1000 1000 56 CPU (Central Processing Unit) 12th Gen Intel Core i5-8GB RAM/1 TB HDD/Windows11/MS Office 2021/Integrated Intel UHD Graphics/WiFi 5/Bluetooth 5.0 (with 3 years warranty) 1 40000 40000 57 White Board Whiteboard Drywipe Magnetic with Pen Tray and 1 2000 2000	54	LED Monitor	LED Panel or Monitors (21.5 inch (54.61 cm) IPS LED Backlit Computer Monitor - Full HD) -		1	7500	7500
56 CPU (Central Processing Unit) HDD/Windows11/MS Office 2021/Integrated Intel UHD Graphics/WiFi 5/Bluetooth 5.0 (with 3 years warranty) 1 40000 40000 57 White Board Whiteboard Drywipe Magnetic with Pen Tray and 1 2000 2000	55		Combo(Black) with numeric keys.Compatible		1	1000	1000
	56		HDD/Windows11/MS Office 2021/Integrated Intel UHD Graphics/WiFi 5/Bluetooth 5.0 (with	Ref.	1	40000	40000
	57	White Board			1	2000	2000
Total 250000						Total	250000